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migg MR 5 | KRE | @Gasa) &E RK&E  |HHE BS | BE | Gda) | FHEEERS
B 3 4 470 131,760 REA ;3 37 51| 328,320 |&l
4 i3 4 627 213,840 REA i 44 70| 434,160 |&[
E It 4 689 262,440 XEES i 45 80| 511,920 |AT
e 3 5 699| 355,320 EF 41 i3 48 82| 448,200 | [
E i3 5 758| 279,720 REA i 57 87| 534,600 |®]
B i3 7 812 397,440 ARE ;3 57 97| 507,600 AT
B 3 8 611 154,440 BHEX ;3 57 96| 614,520 | AT
E i3 8 768| 394,200 REA i3 62 114| 548,640 |°]
24 li] 8 838| 347,760 ARE i3 65 75| 434,160 |A[
e 3 9 678| 273,240 RN i3 72 131] 558,360 | &
XEEa | 73 94| 452520 | R
[ ¥ — E2EE it 74 84| 459,000 |F
migd |MRE| &6 | KE | @Gasa) &% EXEEE | 74 96| 481,680 |F
XHE |E 3 683| 659,880 e A=h=W | 3 74 94| 411,480 | R
XHE |E 3 841| 867,240 XEHE | 74 88| 436,320 | &
XHE |E 3 871| 900,720 piall:d=| i 76 96| 368,280 |l
XHE |E 3 878| 899,640 BRE i 77 96| 426,600 |7
XHEF  |E 3 922 975,240 XEEE | 78 98| 497,880 | &
RHEF | 3 659 699,840 EXEEE | 78 90[ 440,640 |F
ML M 3 689| 747,360 ElR= kS 1 84 127| 481,680 | &l
R | 3 731 791,640 HE® i3 86 103| 476,280 |&[
EXEEE | 86 94| 462,240 |F
@F14 o EAER i 87 93| 474,120 |d
migd |G| G5 | BE | BidH) el FEE I 103 93| 433,080 | F
4 = 3 666| 1,044,360
IES *= 3 712| 1,064,880 QFHERE—IL I
e = 3 738] 1,069,200 migd  |MAE £5 | BRE | GaH) &=
4 It 5 531 516,240 o4 k3 1 76| 351,000 |AIEF
e i3 5 613| 494,640 e i3 1 69| 411,480 |AIEF
4 It 13 469 335,880 4 i3 1 52| 411,480 |AIEF
4 i3 13 577 422,280
o4 i 15| 377 260,280 @4+ ERL ~
LS k4 15 393| 262,440 migd MR 5| KE (;_H;fﬂ;w; 5=
4 i3 15 416 387,720 4 ;3 1 83| 451,440 |AIEF
e i3 16 467| 268,920 e i3 1 82| 486,000 |AIFEF
4 It 20 478| 235,440 4 k3 1 166] 413,640 |AIEEF
4 i 1 85| 464,400 |AIEEF
X BELTVWAIRERTERIF T, IES 73 1 107| 503,280 |AIZEF
4 k3 1 108 435,240 |AIEF




